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void entry( int ph , comnst char nm[] ) {
struct PNTree** tail = &top ;
while( (*tail) !'= NULL ) {
int cmp = strcmp( (*tail)->name , nm ) ;

| struct PNTree {

|

|

|
if (cmp == 0 ) ~TTTTTTTTYTTT (a) |

|

|

|

int phone ;
char name[ 10 ] ;
struct PNTreex left ;
struct PNTree* right ;
}

break ;
else if ( cmp > 0 )

tail = &( (xtail)->left ) ; struct PNTree* top = NULL ;
else “~~~(b)
tail = ; | // stremp(A,B) 00000000
I ittt tatadatatatadatattatated (A3 | // A=BO0O 0,A>B0 1,A<BO-10
if ( (xtail) == NULL ) { | // 0000
*tail = (struct PNTreex*)malloc( )
””””””””””””””””””””””” (B)3
if ( (xtail) != ) o

(*tail)->phone = ph ;
strcpy( (*tail)->name , nm ) ;

int main() {
entry( 272925 , "tsaitoh" )

|
|
(*tail)->left = (*tail)->right = NULL ; | entry( 110 , "POLICE" ) ;
} | entry( 621111 , "nitfc" )
} | find( 110 ) ;
} [ >

void find( int ph ) { // O0OOO0OO0O (16)
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00000000000000 pop_front(), 000 L N S
push_back(33
000000 push_back(O OOOO0O0O0O0O000OO pop_front ()
=> 11
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struct Deque { | void push_back( p, int x ) {
struct Deque* prev ; [ TEmmmmmmmmees (D)4
int data ; | p->prev->next = dq_cons( s, X, P )
struct Deque* next ; rfF T (E)4
T, | + P->prev = p->prev->next;

struct Deque* dq_cons( struct Deque* p , int x , struct Dequex n ) {
struct Deque* ans = (struct Deque*)malloc( sizeof( struct Deque ) ) ;
if (ans t=nNOLL > {  TETTTTooTosoosssssssss (c)

ans->prev = p ; int pop_front( struct Dequex p ) {
ans->data = x ; struct Dequex del = p—->next ;
ans->next = n ; int ans = del->data ;
() p->next = ;
return ans ;| - Tmmmmmmmmmes (F4

int main() {
struct Deque* top
= dgq_cons( NULL , -1 ,
dg_cons( NULL , 11 ,
dq_cons( NULL , 22 , NULL ) ) ) ;
top->next->prev = top ;
top->next->next->prev = H

|
|
|
|
|
(e) | del->next->prev = p ;
| .
|
| return ans ;
|

}

top—->prev = >
top->next->next->next = ;
”””””” (€3

printf( "%d\n" , pop_front( top ) ) ; // 1100000
push_back( top , 33 ) ;

3 0000 (12413)

1. cO00dfdfdooooooooooooopoooooooooooooooo
gboooobooboooooobooobo

2.AvLO00000000000Q0OQoQoQoOoooooooooooooooo


斉藤 徹
p->prev = p->prev->next ;
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int al] = { 21, 14, 39, 9, 18, 31, 41 } ;

void print_d( int a[], int x, int sz ) { | void print_w( int a[], int x, int sz ) {

if ( x < sz ) { | for( int i = x ; 1 < sz ; i++ )
print_d( a , 2%x + 1 , sz ) ; | printf( "Yd " , al i ] ) ;
printf( "4d " , al x 1) ; I3
print_d( a , 2*%x + 2 , sz ) ;
}
} | O00000O0oon
int main() { | 0000000 000O0O0oooOoaoa
print_w(Ca , 0, 7)) ; /+Ax/| OO0O0OODOOOOOOOOOOO
|
print_dCa , 0, 7 ) ; /*«Bx/| (A) __ __ __ __ __ __ __ (1) ______ oooag 2
return O ; |
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